Whitman College 
Econ 448 
Final Exam 
May 13, 1994 

Write all answers in your blue book. Show all of your work. Have a good summer. 




1. (60pts) Below are the real consumption, investment, and government expenditure functions for the nation of Isolation, a country that does not engage in international trade. 

C = $100 + 0.8Y 
I = $150 
G = $50. 


(a) Calculate the Keynesian macroeconomic equilibrium level of aggregate output. 

(b) What is the expenditure multiplier for this economy? 

(c) If the full employment equilibrium level of output were $1,600, what change in government expenditure would achieve full employment? 


The nation of Overt has the same real consumption, investment and government expenditure functions as does the nation of Isolation: 

C = $100 + 0.8Y 
I = $150 
G = $50. 

However, Overt engages in international trade in goods. Overt does not engage in international trade in financial assets. Overt's exchange rate is fixed. Overt's real trade balance, T, is given by the following function 

T = $150- 0.1Y. 


(d) Calculate Overt's Keynesian macroeconomic equilibrium level of aggregate output. 

(e) What is the expenditure multiplier for this economy? 

(f) What is Overt's real trade balance? 

(g) If Overt's full employment equilibrium level of output were $1,600, what change in government expenditure would achieve full employment? 

(h) If the government of Overt changed its expenditure in order to achieve full employment as you described in Part (g), what would happen to Overt's trade balance? 

(i) Explain why, in order to achieve the same change in aggregate output, Overt's government increased its expenditures by more than did Isolation's government. 

2. (30pts) Suppose that you are the chief economic advisor to a president of a lesser developed country. Your president is up for re-election in 18 months. She is looking for a policy that will stimulate aggregate national output before the election. The country operates under a fixed exchange rate system. Your president asks you to advise her on the desirability of a currency devaluation. You decide to evaluate this policy using the open-economy version of the Keynesian-cross model In order to fulfill the president's request, what information would you have your staff collect, and why? Explain. 





3. (60pts) With reference to the appropriate diagrams of the open-economy version of the IS-LM model, thoroughly explain either (a) or (b). 


(a) The ineffectiveness of fiscal policy under flexible exchange rates and perfect capital mobility. 

(b) The effectiveness of monetary policy under flexible exchange rates, regardless of capital mobility. That is, show that monetary policy is effective under each of the following cases: when capital is perfectly mobile, imperfectly mobile, and completely immobile. 




4. (50pts) Answer either (a) or (b). 


(a) True or false? 
Consider the open-economy version of the IS-LM model. Under a fixed exchange rate regime and no capital mobility, monetary policy is ineffective in stimulating real aggregate output, unless the central bank engages in sterilization. However, if the central bank sterilizes, then it can effectively stimulate aggregate output for as long as it likes. 
Explain. 

(b) Consider the New Keynesian version of the Aggregate Demand and Aggregate Supply model with a flexible price level. Suppose that there is no capital mobility between countries. On an AD-AS diagram, illustrate the situation of a country under a fixed exchange rate system that is in a recession and has a trade deficit. With reference to your diagram, explain the automatic adjustment process that would eliminate the recession and the trade deficit.
